

658.1:331.45

• • , • • , • • , • ( « ») ,  
:  
, , ,  
, : , , , ,

*Model for prediction parameters of occupational safety management system, which is adapted to input information changes, is considered.*

*Key words: occupational safety and health, industrial safety, prediction, adaptation.*

• ,  
- :  
, ,  
;  
;  
.  
,  
, , ,  
[1-3].  
, ,  
,

$$(t+ t)$$

$$\hat{x}(t + \Delta t) = \bar{f}_i^T(\Delta t)\hat{a}_i(t), \tag{1}$$

$\hat{a}(t) -$

$a_i(t).$

$$[4], \quad \hat{a}(t) \quad f_i(t - j - t) = f_i(-j). \quad \text{“ ”}$$

$$\sum_{j=0}^t \omega_j^2 [x(t - j) - \bar{f}^T(-j)\hat{a}(t)]^2 = \min. \tag{2}$$

[4]  $\hat{a}$

$$\hat{a} = C^{-1}B\bar{x}, \tag{3}$$

$\bar{x} -$   
 $;$   $B = \begin{bmatrix} f_{ij} \end{bmatrix} -$   
 $t ($

$(N \times 1)$

$(n \times N)$

$\bar{f}(t)$

$t = -j); n - ; N -$

$$C = BB^T = \sum_{j=1}^N \bar{f}(-j)\bar{f}^T(-j). \tag{4}$$

$W. (2)$

$$\hat{e}^T W^2 e = (\bar{x}^T W - \hat{a}^T B W) (\bar{x}^T W - \hat{a}^T B W)^T, \tag{5}$$

$\hat{e}(-j) -$

$;$   $\hat{e}(-j) = x(-j) - \hat{x}(-j).$

$(5) \quad \hat{a}$

$$\hat{a}^T B W W^T B^T = \hat{x}^T W W^T B^T, \tag{6}$$

$$\hat{a} = \bar{x}^T W W^T B^T F^{-1}, \tag{7}$$

$$F = B W W^T B^T = \sum_{j=1}^N \omega_j \bar{f}(-j)\bar{f}^T(-j). \tag{8}$$

$(7):$

$$\hat{a} = F^{-1} B W^2 \bar{x}. \tag{9}$$

$(9) \quad (3)$

$F, \quad i- \quad k-$

$$F_{ik}(t) = \sum_{j=0}^t \omega_j^2 f_i(-j) f_k(-j). \tag{10}$$

(9)

$$\bar{q} = BW^2 \bar{x}, \tag{11}$$

-  $(n \times 1), i-$

$$q_i(t) = \sum_{j=0}^t \omega_j^2 f_i(-j) x(t-j). \tag{12}$$

,  $\omega_j^2 \beta^i$  , (10) (11) :

$$F_{ik}(t) = \sum_{j=0}^t \beta^j f_i(-j) f_k(-j), \tag{13}$$

$$q_i(t) = \sum_{j=0}^t \beta^j f_i(-j) x(t-j). \tag{14}$$

$$\hat{a}(t) = F^{-1}(t) \bar{q}(t), \tag{15}$$

$(t+ t)$

$$\bar{x}(t + \Delta t) = \bar{f}^T(\Delta t) \hat{a}(t) = \bar{f}^T(\Delta t) F^{-1}(t) \bar{q}(t). \tag{16}$$

$F(t)$  ,  $F(t) \bar{q}(t)$

$$F(t) = \sum_{j=0}^t \beta^j \bar{f}(-j) \bar{f}^T(-j) = F(t-1) + \beta^t \bar{f}^T(-t); \tag{17}$$

$$\bar{q}(t) = \bar{f}(0)x(t) + \sum_{j=0}^t \beta^j \bar{f}(-j)x(t-j). \tag{18}$$

[4], , , ,

$$\bar{f}(t+1) = L\bar{f}(t), \tag{19}$$

$L - (n \times n), \bar{f}(t) = L^{-1} \bar{f}(t+1).$   
(12),

$$\bar{q}(t-1) = \sum_{j=0}^{t-1} \beta^j f(-j)x(t-j-1). \tag{20}$$

$$f(-j-1) = L^{-1}f(-j), \tag{19}$$

$$L^{-1}q(t-1) = \sum_{j=0}^{t-1} \beta^j f(-j-1)x(t-j-1). \tag{21}$$

$$\sum_{j=0}^{t-1} \beta \beta^j \bar{f}(-j-1)x(t-j-1) = \sum_{j=1}^t \beta \bar{f}(-j)x(t-j), \tag{17}$$

$$q(t) = \bar{f}(0)x(t) + \beta L^{-1}\bar{q}(t-1). \tag{22}$$

$$[5], \quad F(t),$$

$$F(t) = F(t-1) = \text{const}, \tag{23}$$

$$\hat{a}(t) = F^{-1}\bar{q}(t), \tag{24}$$

$$(16)$$

$$\hat{x}(t + \Delta t) = \bar{f}^T(\Delta t)\hat{a}(t) = \bar{f}^T(\Delta t)F^{-1}\bar{q}(t) = \bar{\Phi}^T(\Delta t)\bar{q}(t), \tag{25}$$

$$\bar{\Phi}^T(\Delta t) = \begin{pmatrix} \dots & \dots & \dots \\ \dots & \dots & \dots \\ \dots & \dots & \dots \end{pmatrix} \quad (n \times 1), \tag{25}$$

$$\bar{f}(t) = \begin{pmatrix} 1 \\ t \end{pmatrix}. \tag{26}$$

$$(13), \quad = 1 - , \quad F(t)$$

$$F(t) = \sum_{j=0}^t \beta^j \begin{pmatrix} 1 & -j \\ -j & j^2 \end{pmatrix} = (1 - \beta^{t+1}) \begin{pmatrix} \frac{1}{\alpha} & -\frac{\beta}{\alpha^2} \\ -\frac{\beta}{\alpha^2} & \frac{\beta(1+\beta)}{\alpha^2} \end{pmatrix}. \tag{27}$$

$$F^{-1}(t) \quad N = (t+1) \quad :$$

$$F^{-1}(t) = \frac{\alpha^4}{\beta(1-\beta^N)} \left\| \begin{array}{cc} \frac{\beta(1-\beta)}{\alpha^3} & \frac{\beta}{\alpha^2} \\ \frac{\beta}{\alpha^2} & \frac{1}{\alpha} \end{array} \right\|. \quad (28)$$

$$\bar{q}(t), \quad (14),$$

$$\bar{q}(t) = \sum_{j=0}^{N-1} \beta^j x(t-j) \bar{f}(-j) = \left| \begin{array}{c} \sum_{j=0}^{N-1} \beta^j x(t-j) \\ - \sum_{j=0}^{N-1} \beta^j j x(t-j) \end{array} \right|. \quad (29)$$

$$[6] \quad N \quad S_t^{(1)} \quad S_t^{(2)}$$

$$\left. \begin{aligned} S_t^{(1)} &= \alpha \sum_{j=0}^N \beta^j x(t-j) + \beta^N S_0^{(1)} \\ S_t^{(2)} &= \alpha^2 \sum_{j=0}^{N-1} (j+1) \beta^j x(t-j) + \beta^N (N+1) S_0^{(2)} \end{aligned} \right\}. \quad (30)$$

(30), (29)

$$\bar{q}(t) = \left| \begin{array}{c} \frac{1}{\alpha} (S_t^{(1)} - \beta^N S_0^{(1)}) \\ \frac{1}{\alpha^2} [\alpha (S_t^{(1)} - \beta^N S_0^{(1)}) + \beta^N (N+1) S_0^{(2)} - S_t^{(2)}] \end{array} \right|. \quad (31)$$

(15)

$$\begin{aligned} a'(t) &= F^{-1}(t) \bar{q}(t) = \left| \begin{array}{c} \hat{a}_0(t) \\ \hat{a}_1(t) \end{array} \right| = \\ &= \frac{1}{1-\beta^N} \left| \begin{array}{c} 2S_t^{(1)} - S_t^{(2)} - 2\beta^N S_0^{(1)} + \beta^N (N+1) S_0^{(2)} \\ \frac{\alpha}{\beta} (S_t^{(1)} - S_t^{(2)}) - \beta^{N-1} S_0^{(1)} + \alpha \beta^{N-1} (N+1) S_0^{(2)} \end{array} \right|. \end{aligned} \quad (32)$$

t

$$\hat{a} = \left| \begin{array}{c} \hat{a}_0 \\ a_1 \end{array} \right| = \left| \begin{array}{c} 2S_t^{(1)} - S_t^{(2)} \\ \frac{\alpha}{\beta} (S_t^{(1)} - S_t^{(2)}) \end{array} \right|. \quad (33)$$

(33) , [6]

( )

(25),  
[6]

$f(t)$ .

[7].  
3-4

2 %.

1. . . . / . . . . -  
∴ , 1981. - 152 .
2. *Uri N. D.* Peak load forecasting using on adaptive model / Uri N.D. - Eng. Opt. - 1979. - Vol. 4. - . 57-63.
3. *Trigg D. W.* Exponential smoothing with an adaptive response rate / D. W. Trigg, A. G. Leach. - Oper. Res. Quart. - 1967. - Vol. 18. - No. 1.
4. . . . / . . . . ,  
. . . . - ∴ . . . . , 1975. - 400 .
5. *Brown R.G.* The fundamental theorem of exponential smoothing / R.G. Brown, R.F. Mayer. - Oper. Res. - 1961. - Vol. 9. - No. 5.
6. /  
. . . . - ∴ . . . . , 1979. - 254 .
7. - . . . . , 2004. - 76 .

15.11.2012 .